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159

1) Round 25.89 to 3 significant figures

2) Solve the equation: 4'-|+ T= 8'.| T= 4
T-=
fifth of 13- 6 6
3) Find a fifth of 67.8 (non-calc) 5\@7‘ KsO

4) Evaluate 2 X 1

1.2
35-|5

Volume of a Cuboid

V=LxBxH

Note: 1Tcm3 = Tml

e.g. how much water does can this fish tank hold?

\[ %L*B)‘H
12 cm =|(6)‘?'X|2
= \5'7-(_‘“\’5

= 15[ m)
= | 92 Litres
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Volume of Prisms

A prism has the same cross-section all the way through its
height.

Volume = cross section area x height

\OCm \I"R)‘h
<€ xI0
. 180 oy

Area = 18cm?

2)

4 e 10 cm \/ - (:\*\(\
= I x10
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1) Round 65 789 220 to 3 significant figures
§ 5§00 o060

0-005 U= LBy |4
3) Find the volume of a cube of length 4cm = GxrYrY

= Guont

2) Find a tenth of 0.05

4) Findt the area of this triangle:

A - "‘7:)(\01\\
= Lyy I

p ?)Y(}%omt

How would we find the volume of this object?
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1) Find the area of the following circles:

¥ & @ A= 1h~f1

="
:‘n'yst < “*’5
=3%-Som™ -1%- 30':‘
2) Find the volume of the prisms:
b)
V_ 10 m
B toyh 20
z "2
—,’i)“lf‘b Q:A*hs
_ ot = 60$|
] ‘100«\

Volume of a Cylinder

h

Example:

Find the volume to the nearest litre.

V=l
_1\’. 25 )‘?0

= 36

- 134Ul -6F86 ml
SRS

50cm

70cm
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Find the volume of these cylinders to 3 sig. fig.

1) Write down the formula for the volume of a prism
| = Arearh
2) Write down the formula for the area of a triangle
. A b h
. = L¥RY
3) Write down the formula for the area of a circle
. K= Tr®
4) Write down the formula for the circumference of a

circle C: T d
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This barn consists of a quarter cylinder on top of a cuboid.

Calculate its total volume (in m3). X
- 3

2305 AN

Water pours into this tank at a rate of 12 litres per minute.

a Calculate the volume of the tank (in ml).
b Change your answer intfo litres.

¢ Calculate how long it will take
to fill the tank.

80 ecm

¢ ) Ibg-: 2 Ly Ryl4
) = (2 LGONUSY U0 1

: _ 000 oM
12 mins I | PRV by L
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Calculate the volume of the triangular prisms shown below.
a b

-

Area = 13 em

2
16 em 12 em

U-narh  Bedyoh AV
= l(;\(\’l n,
= \94Lom

Volume of a Cone

V =% 1r2h

*given in exams

e.g. 1) Calculate the volume of this cone.
V-5 h
1
:‘%)V“fIO)IQQ-
- 54 %m3

42 cm

20 cm
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Calculate the volumes of these cones :-

(a) T (b)
.. 2 cm (j.j m
3m
15 cm f
8-7 mm

(diameter =) 16 cm

Calculate the volumes of these cones :- Answers to 3 s.f

(a) T (b) ¢
201 cm? 12 cm 65m 01.3cCm3
C
(c) T
15 cm T
87 mm
1010 cm3 v 153 cm?

(diameter =) 16 cm
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Starter

1) Round 567 ml to 2 significant figures o) t a M\

2) Find the volume of a cube with length 0.5 m
0-5%0-S5%0-5° .
3) Find 20% of £340 without a calculator 1S
0%, 2234 20% 2768 O™

4) Write down the formula for the volume of a prism

V% p\((on("\

Calculate the volume of this shape.

U= ¥y x n

1 T tx I3
28 cm B = 340339104
¥
V= Tk xh

15 cm = Tx 52)‘ 15
= [17% 047245

10 cm - |6‘%l'(cm3
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Volume of a Sphere

4
V = 3 T3
e.g. 1) Find the volume of thls sphere
O V- % u”
e = 3yY 6

5 Y
. apc o (100)

Find the volume of this hemisphere.

£

28 cm
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@ Calculate the volume

@ of the sphere shown

with radius 12 cm.
Calculate the volume of

this golf ball which has
a diameter of 40 mm.

@ The diameter of this hemi-

spherical bowl is 50 em.

50 em -

(a) Calculate its volume.

} ) b) How many litres of
This statue is used to (b) ’

. water would it hold
advertise “Townend

J 2
m Bowling Club”. when full ?

Calculate the volume
of the sphere used in

the sign.
@ Calculate the volume
@ of the sphere shown
with radius 12 ecm. e T
Calculate the volume of @licm

this golf ball which has

a diameter of 40 mm. 7238.2 cm3
33510 mm3

3 The diameter of this hemi-
spherical bowl is 50 em.

50 cm L

(a) Calculate its volume.

(b) How many litres of
water would it hold
when full ?

3
Calculate the volume 32 7249 am

of the sphere used in 32.7L
the sign. 17.157 m3

This statue 1s used to
advertise “Townend
Bowling Club™.
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A cylindrical beaker shown on the left is full of water. If the
water is poured into the beaker on the right, will it overflow?

Volume of a Pyramid

1
3

V == x base area x perpendicular height

e.g. 1) Find the volume of this square based pyramid.

12 cm

8 cm
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The area of the base of this ?
square based pyramid is 13 cm?” . 9 cm
Its height is 9 cm. ¢

Calculate its volume.

Area=13 cm”  The pase of this pyramid

is a square with each
side 7 cm.

}

12 cm

:

Shown are two cartons used to hold popcorn. It is 12 em tall.

15 cm Calculate its volume.

15cm 12cm 1 7 cm
T Zeom
20 em 16 cn@

How much more does the big one hold than
the small one ?

The area of the base of this ?
square based pyramid is 13 cm” . 9 cm 39 cm3
Its height is 9 cm. ¢

Calculate its volume.

Area=13em”  phe page of this pyramid

is a square with each
side 7 cm.

12 em

Shown are two cartons used to hold popcorn. Itis 12 cm tall.

15 cm Calculate its volume.

7T ecm
1= )
15 c¢m 12 cm

12 em

? 196 cm3

16 cm

How much more does the big one hold than

732 cm3

the small one ?
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The rectangular block of metal shown is melted down to
make metal balls with radius 1 cm. How many balls can be
made?

A paperweight is made of solid plastic. It's height must be 6
cm. The manufacturer must decide between the cone and
pyramid shown. Which one requires less plastic to make?
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